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1. Aryan has 18 t-shirts at home.
He buys a packet of 5 t-shirts.

How many t-shirts does Aryan have altogether now?
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2. Sahana is baking.
She uses 9 choc drops to decorate a cake and 29 choc drops to decorate some biscuits.

How many choc drops does Sahana use altogether?
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3. Ryan has 9 cheese biscuits in a tin.
He opens another packet of 36 cheese biscuits and puts them in the tin.

How many cheese biscuits does Ryan have in the tin altogether?
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4. There are 25 passengers sitting on a bus.
There are 6 passengers standing on the bus.

How many passengers on the bus altogether?
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Answers

1. 23
2. 38
3. 45

4. 31
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